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Size of Pion Asymmetry

Physics Asymmetries: 2.2 GeV, 5T Transverse
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Correction for Pion Contamination

— 7T _A _ f. = fraction of events of particle x
A = fe-Ae- + [7Az P
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Electron & Pion Yields

(No Cuts on Lead Glass)

Yields: 2.2 GeV, 5T Transverse, 0.919 GeV/c

F e Electron
IS S 5&%.%’“#& .
E N ° e Pion
- [ e
= " e
- L] :
= 'y I
s . .
T — et g,
» °:
S -t o
C : ®
o oe.. -
o o.o. i
Fr e N
. . : e
:\ | ’\ L1 | t |- t |- t |- t |- t | - t | t I - I \.\ Il
1200 1300 1310 1320 1330 1340 1350 1360 1370
nu (MeV)
Yields: 2.2 GeV, 5T Transverse, 0.919 GeV/c Yields: 2.2 GeV, 5T Transverse, 0.919 GeV/c
S S W s ORIt Sun SvRe, " e e - b Poetal e e
- « Soaetvte, M..Ma.. ; 40 :_““’*jﬂﬁﬁiﬁ‘m..m.ﬁ‘“.m.“
- : — ® P
Er e 35— so. rrrrrrrr
o i e C o ¢
L Y ® - o
;“ ° . JC{0] i SR * o
- ) L = o
- . . 25— o
E . - e
— ° g 20| i@ R
- i : ‘e
C (] o 77777777 E °
- : 15;“ S
i e Y r
o . ‘ L
T O VT S WO s s W N _—— =
- : : STl
S S DU D B D T B D Tl S I T P D D D D D T
1200 1300 1310 1320 1330 1340 1350 1360 1370 1200 1300 1310 1320 1330 1340 1350 1360 1370
nu (MeV) nu (MeV)



Electron & Pion Yields

(With Cuts on Lead Glass)

Yields: 2.2 GeV, 5T Transverse, 0.919 GeV/c
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Correction to Asymmetry

Physics Asymmetries: 2.2 GeV, 5T Transverse
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Correction to Asymmetry

Physics Asymmetries: 2.2 GeV, 5T Transverse
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Electron and Pion Events

All Events
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Electron and Pion Events

All Events
1200 900
>
[o14] 800
)
c 1000 700
[N}
— 600
o 800
o 500
600 .
400 Some pion events do
400 300 ;
survive lead glass cuts
200
200
100
0 I I I‘ I 1 I .IV 1 1 .I 0
0 100 200 300 400 500 600 700
PR2 Energy
Electron Events () Pion Events
1200} 200 1200/— 900
> >
o 180 [o14] - 800
S [ .
GCJ 1000 160 CICJ 1000|— A 4 700
[WN] (NN}
— 140 — 600
o 800 o 800 ;
a 120 o 500
600 100 600 400
80
- ' 300
400 60 400
40 200
200 200
N . 20 100
0 - 1 II 1 I .IV 1 1 .I 0 0 | 1 I”IV 1 I I 1 1 1 I 1 1 1 1 0
0 100 200 300 400 500 600 700 0 100 200 300 400 500 600 700

PR2 Energy PR2 Energyl2



Electron & Pion Yields

Physics Asymmetries: 2.2 GeV, 5T Transverse, 1.811 GeV/c
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Electron & Pion Yields

Physics Asymmetries: 2.2 GeV, 5T Transverse, 1.927 GeV/c
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Electron & Pion Yields

2.2 GeV, 5T Transverse
(No Cuts on Lead Glass)
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